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1.	

,
,

,
,

,
,

0 56
1 4

0 19
5 7

0 17
0 51

-

	 = 

56
140

19
570

17
51

2

5

-

	 = 

2
5

30 3-

	 = 27 5
2
$

	 = 5
54

	 = 10,8
Cevap: E

2.	
, . ,

,
0 03 10 9
10 0 19

2
-

^ ^h h  = , . ,
,

0 0009 10 9
9 81

	 = ,
,

0 00981
9 81

	 = 981
981000

	 = 1000
Cevap: A

3.	 (0,04)x = (0,0016)y	 ⇒	 (0,04)x	 = ((0,04)2)y

		  (0,04)x	 = (0,04)2y

	 ⇒	 x	 = 2y
x + y = 3   ⇒   2y + y = 3   ⇒   3y = 3   ⇒   y = 1
	 x = 2.1 = 2
x.y = 2.1 = 2

Cevap: D

4.	
,
,
0 0025
0 00005

2

3

-

^
^ h

h
	 = 

.

.
5 10
25 10

5

4 2

3

- -

-

^
^ h

h

	 = 
.

.
5 10
5 10

4 8
3 15
-

-

	 = 53+4.10–15–8

	 = 57.10–23

Cevap: D

5.	 , ,
1

0 0003
2

0 001

2 1
-

^ ^h h
	= , ,

2
0 0006 0 001-

	 = , ,
2

0 0006 0 0010-

	 = ,
2

0 0004-

	 = –0,0002
Cevap: E

6.	 5412 = a
3404 = b   4   olmak üzere;

5412.3406 – 5414.3404	= a.(b + 2) – (a + 2).b
	 = .a b  + 2a – .a b  – 2b
	 = 2a – 2b
	 = 2.(a – b)
	 = 2.(5412 – 3404)
	 = 2.2008
	 = 4016

Cevap: E

7.	
,

,

0 5
1
5

5
1
0 5

- 	 = , ,5 1
0 5 0 5 1

5
$ $-

	 = 2,5 – 2,5
	 = 0

Cevap: E

8.	
25

256 9
.

. .
0 75

0 125 0 50+ 	 = 
2

5
3

,

, ,8

2 0 75

0 125 2 0 5+^
^

^h
h

h

	 = 2 3
5 ,
1 1
1 5
+

	 = 

5

5

2
3

1

	 = 5 2
1
-

	 = 
5
1

5
5

5

=

^ h
Cevap: C
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9.	 a = 5, b = 2  ⇒  ,
,

,
,

,
, ?0 002

0 03
0 02
0 1

0 005
0 03

+ + =

	 = ,
,

,
,

,
,

0 002
0 030

0 02
0 10

0 005
0 030

+ +

	 = 2
30

2
10

5
30

+ +

	 = 15 + 5 + 6
	
	 20	 +	6
	 = 4.5 + 3.2
	 = 4a + 3b

Cevap: D 

10.	 (12 – 0,8 . 0,5) : (3,26 + 0,74)
= (12 – 0,4) : 4
= 11,6 : 4
= 2,9

Cevap: D

11.	 ,
, : ,

,
75 8

758 7 58
58 7

587 5 87+ +c cm m

= , ,
, : , ,

,
75 8
758

75 8
7 58

58 7
587

58 7
5 87

+ +c cm m

= :758
7580

7580
758

587
5870

5870
587

+ +c cm m

= :10 10
1 10 10

1 1+ + =c cm m

Cevap: C

12.	 ,
,

,
,

,
,

0 013
1 3

0 00196
0 196

0 00025
0 0225

- +

= ,
,

,
,

,
,

0 013
1 300

0 00196
0 19600

0 00025
0 02250

- +

= 13
1300

196
19600

25
2250

- +

= 100  – 100  + 90 = 90
Cevap: A

13.	 ,
,

,
,

,
,

0 003
0 03

0 05
0 5

0 03
0 6

+ +

= ,
,

,
,

,
,

0 003
0 030

0 05
0 50

0 03
0 60

+ +

= 3
30

5
50

3
60

+ +

= 10 + 10 + 20 = 40
Cevap: A

14.	 ,
, , : ,

0 5
2
3

0 2 0 4
1 0 5-
- 	 = ,

, :

0 5
2
3

0 2
1

9
5

-
-

	 = ,
,

0 5
2
3

0 2
1

5
9
$+

	 = 

2
1

2
3 9+

	 = 2
21

1
2 21$ =

Cevap: D

15.	 !
. … .. . . .

12
4 8 12 16 40 44

= !
. . . . . . . .…. . . .

12
4 1 4 2 4 3 4 4 4 10 4 11

= !
. . . . .…. .

12
4 1 2 3 4 10 1111

	= !
. !
12

4 1111

	 = . !
. !

12 11
4 1111

	 = .3 4
411

	 = 3
410

	 = 
2
3 3

22 10 20
=

^ h

Cevap: C
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16.	
, . , .

10
0 005 10 0 8 10

32

35 33+^ ^h h

= . . . .
10

5 10 10 8 10 10
32

3 35 1 33+- -

= . .
10

5 10 8 10
32

32 32+  = .
10

13 10
32

32
 = 13

Cevap: D

17.	 ,
,

,
,

,
,

0 03
0 03

0 01
0 01

0 02
0 02

+ + 	= 

100
3
90
3

100
1
90
1

100
2
90
2

+ +

	 = 390 3
100

90
1

1
100

90
2

2
100

$ $ $+ +

	 = 9
10

9
10

9
10

+ +

	 = 9
30

	 = 3
10

Cevap: A

18.	 32–x = 0,õ3	 ⇒	 32–x	= 9
3  = 3

1  = 3–1

		  32–x	= 3–1

	 ⇒	 2 – x	= –1
		  x	= 2 + 1 = 3

Cevap: B

19.	 , ,
, ,
x y

x y y x
0 0 0 0
0 0
+

+

= 
x y

x y x y x y

90 90

90
0 0

90
0 0

+

-
+

-

= 
x y x y x y

x y90
100 10 100 10 90

$
+ - + + -

+

= 
. x y

x y
91

90
90 91$

+

+
=

^ h

Cevap: C

20.	 a = 3,4õ5 = 90
345 34

90
311-

=

b = (3 – a) 41
5
$ 	= 3 90

311
41
5
$-c m

	 = 90
270 311

41
5
$

-

	 = 90
41

41
5

18

$
-

	 = 18
1

-

Cevap: B


